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7)  Solve the following triangle. Round answers to the nearest tenth of a degree. 
In the acute triangle ABC, a = 6.8 cm, b = 8.7 cm, and c = 9.6 cm.
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Find the length of x, to the nearest tenth of
aunit.
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Find the measure of both acute angles in
each triangle, o the nearest degree.

)« b) z
El
X
s4m
53
v
0" aEm €




image5.tmp
Find the length of the tunnel, to the
nearest metre.

1730m.

1s80m




image6.tmp
A ship is sighted at sea from two
observation points on the coastline that
are 60 km apart. The angle between

the coastline and the ship at the first
observation point is 43°. From the
second observation point, the angle
between the coastline and the ship

is 55°. How far is the ship from the
second observation point, to the nearest
Kilometre?
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Ina roof, a 1.5-m support is to be placed at
point B, as shown. Find the length of the
support to be placed at point A, to the
nearest tenth of a metre.
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The two triangles are similar. Find the
unknown side lengths.

L5




